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1 |BABERZE 5 17 667 254 45 38.1 1 [mEEXRE 5 19 9 3 2 33.3
2 |EREXTRIAKRE 5 18 742 278 42 31.5 2 | BB ERE 5 21 19 6 31.6
3| M EEKRE 5 19 79 258 44 35.9 3 | R fLKF 5 18 38 9 1 23.7
4 [EREKRFE 5 21 708 221 69 32.1 4 [{EBEXRZE 5 19 9 2 2 22.2
5 {EBXE 5 19 685 192 66 28.0 5 |BAREKRF 5 17 10 2 2 20.0
6 | RUHILKFE 5 18 1217 194 54 26.7 6 |EREXFEHKRE 5 18 1 2 0 18.2
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1 [EREXFEHKE 5 18 742 31.5 276 2 278 1 [EEXZE 5 19 41 2.16
2 | WMEEXRE 5 19 79 35.9 255 3 258 2 [E2EXFE 5 21 40 1.90
3 |BAREFKREFE 5 17 667 38.1 252 2 254 3 [EREXFREHKE 5 18 28 1.56
4 | SR EXRE 5 21 708 32.1 221 6 2217 4 | EEXRS 5 19 23 1.21
5 | RIBHILKZF 5 18 127 26.7 185 9 194 5 [BRZEEFRE 5 17 19 1.12
6 [{EEXZE 5 19 685 28.0 190 2 192 6 | RIEHDKZE 5 18 17 0.94
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1 [F2ERE 5 21 423 30 184 | 23 16.6 1| WMEEKRE 5 19 349 | 238 0 111 68.2
2 |EREBXTFEGKRE 5 18 | 444 4 168 | 50 15.9 2 [BREZEERE 5 17 321 | 209 0 112 65. 1
3| MEEKRFE 5 19 | 439 28 173 | 32 14.4 3 [ERELFEPKRE 5 18 | 358 | 223 0 135 62.3
4 | RIGHILKE 5 18 | 372 25 132 | 23 14.0 4 [tEBEX%E 5 19 399 | 219 0 180 54.9
5 |BAREFEKRE 5 17 | 410 22 135 | 22 12.3 5 [RIGHILKE 5 18 | 380 | 179 0 201 47.1
6 [{EBEXZE 5 19 | 382 19 128 | 22 1.9 6 |EBEXF 5 21 414 | 190 0 224 45.9
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